BE i
(B 78]

=

(1) FHEISTOIEMER S 7z, FIMIFMDO LBV (14— 6V5)T
(2) ZIHAOHMEZE M S 7z, FERIFKOLBY: f(x) = 2* — 2422 + 4
(3) HERDHMRAR] S 72, FhamiEmoLBH: 1

H

1| Bl & 2 IRBEE DB % [H] S 7=,
(1) ¥miExo B0 22 + (y — 9k)? = 36k>

(2) Mmoo s k=1, L <k<i

2| MBI B - BT DN T DER A S 72,

(1) fEimiZkD & B b FEIT y =logy(x + 1), EHFET 2 > —1
(2) F#wFxkDO LB (0,0), (1,1)

(3) ¥EHMIIMDEBD: 3 —

log 2

B D PR % S 7=,

(1) FREHE,
(2) FRESH,
(3) AR,

Y P NOEMERS 7=,
L, PA.PC=—1, PB-PC =

(1) ¥&#IZXD L B : PA - PB = 1,

(2) KEHIERD L B0 HO = \fPAJrz\[P_B> AR = \fPA+2\[ﬁ

(3) AEFMIFIRD LB D cosh = —=

[3-3] Hesk DB E > 72,
(1) FEmIFRDO B P(X =4) =1L
(2) MmO LB Y: B(X) =3
(3) ¥mizko B E(Y) =122





